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@ 38°, 90° @ 48°, 80° @ 80°, 48°
@)oo, 35° ® 98°, 30°

lx= % x 180° = 90°
o Ly = 180° — (90° 4 52°) = 38°
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/ABT = /ATP = /QTC = (/CDT °o|B&
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Ly = 180° — (55° + 60°) = 65°
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PA x PB = PC x PD |4
4(4+8) = 6(6 + x)

48 = 36 + 6x

12 = 6x

oo x=2(cm)
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a® > 82 + 62

a?® > 100

a>092=2 a>10
w2hA 10 < a < 14 o]th,
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sinA + tanA = - +
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D 15° 2)30° ® 45°
@ 60° ® 75°
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CD = 125in60° = 6 V3
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@D A(1, 3) @ B(-4, 0)
@)p(Vi3, 2) ® E@3, - V7)

B

OA=+V12+32=+10<4
OB=Vi2+02=14

0C = /(-2)2+ (-V5)2 =3 <4
OD = /(V13)2 +22 = V17> 4
OE = /324 (-V7)2 = V16 = 4

wha, 4 D & o] 2k 9let.




11, the I 22 A7H719 ABC o WA Y 0 ©f Hols Fatolat.

it

\VARR 4
02
L

I

B «
AC=VIT?-152=8°|E&
AABC:%X15><8:6O oJt},
AABC °] 1€ O 9 ¥F2] 59| Zo]& r o]z} 5t AABC =
ABOC + AAOC + AAOB ©|E2 60 = %x15xr+%x8><r+

%xl?xr, r— 3 0|t}. makA € O 9] Yol rx 32 = or o]},




@ 5v6 ©®©6

PT” = 6x16 = 96,PT = 4V6(-- PT > 0)
(APT = /ATP = /ABTo| B2
BT =PT =46
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BC2 = BD2 + CD2 =42 + 102 = 116

BC =2+v29cm
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@ V13(cm) @2 V13(cm) ® 3V13(cm)
@ 4+13(cm) ® 5v13(cm)

H:\/?§><6=3\/§(cm)
EI :‘/7§><8:4\/§(cm)

AEDK 4] DK = 7cm
EK =4vV3-3vV3 = V3(cm)
= DE = /72 + (V3)2 = V52 = 2V13(cm)




AQx15=5x%x27, AQ =9,

PA = x2} 5td

81 = x(x+24), x2 +24x—81 =0
(x+27)(x=3)=0 ..x=3(-x>0)




